  		Activity: Phrases of Preference and Negative yes/no Questions
Producto Integrador



PHRASES OF PREFERENCE AND NEGATIVE YES/NO QUESTIONS
1. Write one example of each type. Use different verbs.

	Affirmative

	Would like
	Example: I’d (would) like to go dancing.

	Would prefer 
	Example: I’d prefer to go out to dinner.

	Would rather
	Example: I’d rather go to a party.

	

	Would like
	Your answer: 

	Would prefer 
	Your answer: 

	Would rather
	Your answer: 



	Negative

	Wouldn’t like
	Example: I wouldn’t like to go dancing.

	Would prefer not
	Example: I would prefer not to go out to dinner.

	Would rather not
	Example: I would rather not go to a party.

	

	Wouldn’t like
	Your answer: 

	Would prefer not
	Your answer: 

	Would rather not
	Your answer: 




	Question

	Would like
	Example: Would you like to go dancing?

	Would prefer 
	Example: Would you prefer to go out to dinner?

	Would rather
	Example: Would you rather go to a party?

	

	Would like
	Your answer: 

	Would prefer 
	Your answer: 

	Would rather
	Your answer: 



	Short Answer

	Would l
	Your answer:

	Wouldn´t
	Your answer:




2. Write the correct answer for each question. 
1. [bookmark: Texto1]Would you like to go to a movie?	     
2. [bookmark: Texto2]When do you want to go to the movie?	     	
3. [bookmark: Texto3]Would you rather have Italian of French food?	     	
4. [bookmark: Texto4]Why don’t we go to Kate’s party?	     
5. [bookmark: Texto5]Would you like to go to that Italian restaurant?      	
6. [bookmark: Texto6]What would you like to do tonight?	     	



a) I think I’d like to go to that new club.
b) I don’t really want to go; I’d rather not stay out late.
c) Yes, but I’d prefer not to see a horror movie.
d) I’d prefer to go tomorrow if that’s OK.
e) I’d rather have Italian food.
f) Sure. I love Italian food.

3. Complete these sentences about going on a blind date. 
[bookmark: Texto7]On a blind date, I’d like to      
[bookmark: Texto8][bookmark: Texto9]I wouldn’t like to       I’d rather      
[bookmark: Texto10]I’d prefer not to      
e.g. On a blind date, I’d like to go to a restaurant because you can talk a lot at a restaurant. What about you?

Exercise taken from Open Mind 2, Macmillan, 2010, p. 86.
4. Complete this e-mail with the phrases from the box. 
got mad	get married	blind date	  got bored	broke up	    got sick 	ask me out	get engaged	went out with		got hungry









[bookmark: Texto11][bookmark: Texto12][bookmark: Texto13][bookmark: Texto14][bookmark: Texto15][bookmark: Texto16][bookmark: Texto17][bookmark: Texto18][bookmark: Texto19][bookmark: Texto20]Hey, Kevin. My (1)       last Saturday wasn’t great. The guy’s name is John. He’s a friend of my sister. The three of us were going out together, but my sister (2)      , and she couldn’t go. So I (3)       John alone. We went to a restaurant. I (4)       because he talked a lot, and we didn’t order any food for ages. I (5)       because he told the same jokes again and again, and he (6)       because I wasn’t laughing. So I don’t think he’s going to (7)       again! Anyway, how are you? I’m sorry you and Kelly (8)      . Weren’t you guys going to (9)      ? And didn’t you (10)       only last month? What happened? I hope you’re OK. Talk to you soon. 

5. Mark in red the correct options to complete this conversation.

A: What (1) would you like to do/ would you prefer do, go to a movie or go dancing?
B: (2) I’d rather to / I’d prefer to go to a movie. I’m a little tired.
A: OK, and (3) would you like to / would you rather not eat dinner, too?
B: Yes, I (4) would / rather, but I’d (5) rather not / rather eat a big dinner. I’m not on a diet.

6. Complete the negative yes/no questions in the conversation.

A: Guess what! Leo is going out with Susie!
[bookmark: Texto21]B: (1)       he going out with Jessica?
A: No, they broke up.
[bookmark: Texto22]B: But (2)       they went to Tim’s party together last Saturday?

[bookmark: Texto23]A: Yeah, but (3)       you seen him talking to Susie a lot lately?
[bookmark: Texto24]B: Hmm. Yes, I have. But (4)       Leo and Jessica got engaged?
A: Yes, they did, but obviously they’re not going to get married now.
[bookmark: Texto25]B: (5)       Jessica feels really hurt?
A: Well, yes. I’m sure she does.


	EVALUATION

	The activity has more than half of the total correct answers

	The activity has half of the total of correct answers

	The activity has more than half of mistakes

	[bookmark: _GoBack]Total 2 points



Remember: the name of the file should be named: Last Name/Given Name/A12
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